
I CET 12th Level (2nd Shift) Answer Key Dated : 04.02.2023 

1. •�.u �· � -it-
(A) ctiIB � marar � ( s) mtT marar �
( C) �� � � ( D) �ITtHR&fOT � [ 0] 

2. �T cfrr � "1"1"'1<..«41 dit � d � 'cfiT 2011 if
�fflj;f;llJ? 
(A) 8 cir� (8) 24cir� 
(C)27crt� (D)12m� [A] 

3. 1\'ali<{i'ntttmt-
(A)�� (B)�WPl
(C) �ll (D) �ll TrT'IT� [C] 

4. � 'cfiT � q;Ttf ��if fl¥QiR,c1 g'3fl �
? 
(A) "'1. "'1. � (B) cit.�- fi't.m
(C) �- �. cllcfiDlcfi< (D) �.it. '8icfi�I..II [0] 

5. 101 'cfiT�i-
(A) 1050501 (B) 1020201
(C) 1030301 (D) 1040401 [C] 

6. 1857 ifi' �ciSldl 'ffl1TiJ if q;tty � � fli;l<.fdl if;'
����fficli fli;IQdl �? 
(A)� (B)�
(C) \ill� (D) � [A] 

7. A .... Wt�a il � � llT tf� q,lw.1:cfl i1ifi � � � 
t? 

(A)� <iii (B) �'3lr-IT
(C) ��R (D) � [B] 

8. � � i-tklc{'iftQ lt� cf;J \3fTtiiR 16 ifl'-n� �12
1ft' t, � \3fl�cfiicZfm' __ ,----
(A) lft. (B) 4 J:ft.
( C) 2 lft. (D) 1 J:ft. [B] 

9. i-ll<cli1i-t � � d � Acliii-t-l cl; � RlWT f.l;ttr
GITdT t1 � � l@i-iJ cl;-&RT q;rd � t?
(A)� (B) '31.lcRfich<OI
( C) � (D) �ltfflllUT

10. "1i-tcii'le1it"i ��-���t?
(A) dle;«'Rli..11 (B) � 
(C) � p (D��TT [A] 

11. fct;lfi � (ft;q) cf;J om, auimft cl� umllkl �
cnr.l � -rn ---,,-----,-- � � � �,qt 
�GIT �i-
(A) "1.11 ffi 3fc@R m-iJmwl' (B) �
(C) 3fc@R (D) � [BJ 

12. � "'� \3fl� f.!tJM" 'cfiT � � <R-li;lt"iQ m
GIT�t-
(A) ;msft,1� 4 (B) � -it 
(C)<hl<1lcsi•114 (D)�B [A] 

13. Choose the most appropriate technical
translation of the following word: 
Circular 
(A)� (B)�
(C) � (D) trfuJ;1:rr [BJ 

14. ���� Gl-t.fi<..cql 1 �l����!3"
di't�85�i. cl'al'��i-
(A) 0.085 {B) 0.85 
(C) 85 (D) 8.5 [O] 

15. ,usa,1mCR � � 'cfiT J:rmtT :
(A)�q;)wcl,�
(B)crn3ni�cl,�
(C)���cl,�
( D) fcffi-q 3ni � � $ � [D] 

16. � � � � q CREW 4il 96 � GITdT t �
COURT ifi1' 154 � '11Ti1T t. cit -mt� if CRATE
4iT � Jf'cfiT( � � 

(A)98 (8)47
(C) 90 

�� 
(D) 94 [*]

17. �t"i IQ,A so.s�;:,i fi?t filz.s &Rf � 'cfiT JllPf �
� dfrotQq; Qla; __ ll �cfi�<'I Pcl;trr Gl'TC{1TTI 
(A)� (B)�
(C) � (D) af21<:-HI-§ [D] 
� • mff � a;- 3fUJIH 'QT � cfil-
4ii44ilc-i � � ll ¥ � � tfZT'QT Gil 'fl'4i<'IT 
t? 
(A) �it:ft&RT (B) <l""-lQl<'i &RT 
(C) �&RT (D) f<)-m;J�'lTT&RJ [C] 
'l'1«l cfrr � 'R"UTMt ll '11�· 4il �TQ' cJQT t?
(A)�Q(�il;����,
(B) 'R'� cfiTR �cfi'.llRi,:fl � 3JTRift �it� cfiT � �
� '3{�� cf,)�$'�� fcrtlrqsfc5Tct ti 
(C) �m��'R'�cfil"R��t1
(D) � ft)-� Q( �*GT�*� \jj-1'iQillRch

--�� lfF � � [B] 
���ll �. mm, cf -,i1a.zgc. � �� 
� 'ilTn l, � � cfii;i-tlcft �-
(A) �l..lal�ch (8) JlTIR
(C)� (D)W� [A] 

21. A .... Wt�ct il d � 'flT � -d\a' U,e:nfrlciil if
� �• 4ii;t"i ldl � ? 
(A)��� (��R�)
(B)��
(C) 41<-11Ah1
(D) e;1$�1�� [A] 

22. � c). ,A1,:fo1Aa. � � 4il � m q;rd �
t?
(A) � $ � -814\Jl�ch i!f5r $ � $ � �
'Qcli,T ����ITTA���� crr-JTI
(B) � ll f.Nlt � qi) �w-f.1t�T �I
( C) �'lt) -81 tNl f.-l cfi l$T $ � $ ChTm °® f.:lmRT err-Jr I
(D) � * � � � cfiillADiii:-ll ll � crr-JTI

[C] 
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23. 

24. 

25. 

26. 

27. 

28. 

29. 

30. 

31. 

32. 

33. 

34. 

35. 

36. 

� -a; J:l''qif nlct,ig'di 'll-
(A) "Q11. it. � (8) -mt.it. �JTT
(C) $.tft.� ll:r-f (D) $.�. �
�¥�W4cft? 
(A).J@cR (8)�
(C) � 
'Uttr-Jifil�'�i-

(D)��

(A) .\@4ll� � <lli�i:11,$1 �� 
(8) <lli�i:11-$1 am ���a;�
(C) <lli�i:ll,$1 '3fR�$�
(D) Rl=at$•1� am Ai114•1� a;� 

[B] 

[D] 

[AJ
Actfi?t�n -lfeR � if � -lfeR � m ..3fr-J( 
�? 

K, I,J,·M, I, N, H, 0, G, P, □
(A) F (8) Q
(C) R (D) E [AJ 
� � f5t'ljuf cfiT � 25./3 � 2 t, � �
�t-
(A) 60 wfi (8) 30 wfi
(C) 50 wfi (D) 50A = ,,/3 wfi [B]

� qfc:@ ifiT � "111l if cli't cnift cJil 
�-a;�Fcfitn11ltll 
(A)� ( 8) fclafiR iifi2 

( C) fcR1fi:R -q (D)�� [C] 
� � � c1,1an-lz '3f'lRcli cJil UJW-,jlcfAl!l.s 1f 
�'$�414cli't�3q�if�� 
� traT t, cfi�Hlcft �-
(A)� (B)�
(C) 3fCTiTlR (D) f.l-&tlQ..J
fctm;:r �cl;� ifiT � � ulraT t.
(I) �a,�� (JI) �!ff�� 
(III) � �
(A) (I) am (III) (B) (I) 3rR (II)

[O] 

(C) (I), (11) � (III) (D II) '3fR (III [D] 
Actifa.a ctm 1 � m m cI� � 1l � * fi:n?
��t? 
(A)� (B)�
(C) � (b) lffi-R
:tt .1:fl. �- ,}ITT -lfR. .ili�Tcfm
(A) 2-C q,: ;i1s?.l"1..J cfi)-�
(8) 2-C m: ,.jficRtl"1..J qiT � 

( C) 3-C m: ,.jf'fqt{)uj..J ® �
(D) 3-C m: ..Jls?.1"1..J <ITT� 
f;n;:r if� "ifiR·ffl fflqjR' � � � t ?

[B] 

(A)� (B)�
(C)lflW (D)� [A] 

8 ffi"ITT@' � q:jT 3ITTttf 
23 

i1 � cft.:r � ifiT2 
3ITTttf qQf t? 
(A) 10 (8) 7
(C) 8 (D)9 [D] 
� ,m� __ il � u1raT t-
(A)chlR (B)rncfi
(C)� (D) cq;;rr
�•t<cl,lc4 ci'�mn:ft ifiT � c1>r.l �? 

[C] 

(A)�� (B)� 
(C) uj•i"1)cH � (D)�� [A] 

37.

38. 

39. 

40. 

41. 

42. 

45. 

46. 

47. 

48. 

49. 

so. 

Actfi?t@ia q � fcRJ � 1f � �� fflra 
�afUT � � t?
(A) 7JTJr-iTR (8)�
(C)¥ (D)� [D] 
A� B cli't� '1ntfi°f 4:3 cliT �i, �if� 
� f600 ifqJnJ t I � ;r-rcl; � fcml 'lfQ' eQt:J ifiT 
� 3 : 2 �. ol B cli't � '1ntf � •
{A) n,600 (8) n,400
(C) f2,000 (D)f1,800 [D] 
� i:r@l � �< Mldl.:(51 (ciii.ffdl.:(51) if� t,
� fcRJ '1IR ;JPt � � ;:;fRT u1raT t?
(A) 3ITTfttlffiTT { 8) lNrna-ifi 
( C) I-J$1chlct'J (D)�� [D] 
� � ifiT � � m mt?

(A)ch� (8) � 
( C) "4.ti1..Jl6.JI-J (D)� [DJ
1857 '$ � cl; � � 'i1RUT cfit fcRJ Ucra" 
( fflJr-'i1') � lfRUT tt 'lft? 
(A)���� (8) c¼i�.:"1Ri$
(C)� {D) ,:01"1)aRi$ [CJ 
� � f10 $11 'Q':f � �� � {g�h�iil t<'I'� � 
f 11 cl; 10 'Q':f cli't � �-ilrar t1 � � ma�ra 1f 
q:qyt? 
(A) 21 % (8) 9% 
(C) rn% (D) 11% [AJ 
�c);ffln;rlif �ffln;l�t? 
(A) 13 (B) 10
(C) 11 (D) 12 [C] 
� "i-JllfUTI � cl;�-ail"�t: 
(A)� (B) �1-Jg'J.1"1
(C)�1lRi--tt (D) RllllJ.11;!•1-1'31 [D] 
7-8 � 2022 cfit � �� if ·� ��
mitz• ifiT 
(6)� (B)�� 
(C)� (D)�
fpi��cimtt��mtlt-
(A) Wi (B) � 
(C)� (D) ;j.rr�

[D] 

[BJ 
Choose the correct antonym of the following 
word from the options given below: 
Encourage 
(A) persuade (B) aid
(C) discourage (D) incite [C] 
'lR � if 'q;ra' * ;JPt � �-ffl ;:;fRT \SITi1'T t?

( A) � -q '<11<TT
(8) +@k9-&IH
(C) il�l&il,( ofRjchT�ll1"1cl'
(D)�� [CJ 
���'$,lfUf��'l°t?
{A) cft. � (B)�-�
(C) $. � (D)Qw@� [D] 
� IOQ27 X = 1/6, � X affliRt
(A) 27 (8) ✓3
(C) 3 (D) 9 [BJ 
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51. Choose the correct option.
Tenders should be written in a language that
is -
(A) br ief and to the point 
(B)r oundabouta lengthy
(C) informal
(D) stylish [A] 

52. 16 mft if 12 mft �3fl � � ,3,JTtra cli tJfuf: �
�dfm11'QTll�cfiT�qlfl�?
(A) 192 TT� 2 (B) 967 TT� 2
(C)100TT�2 (D)152TT�2

53. �if����filrnt?
(A)� (B) �

[C] 

(C) � (D) � [D] 
54. �� (Remainder) mn �cl;����

if� ffl 'Q;cf�R mmT if� i?
(A) FACT( ) (B) DIV( ) 
(C) MOD( ) (D) INT( )

55. f;l1::;J if�� m � cfiT '1f61Mtti � t?
(A) 23° 30' �-qct 30° 12' �
(B) 23°03' '3"'tR-qcf 30° 12' '3"'tR
(C) 23°03' '3"'tR-qcf30° 12 ' �

[C] 

(D) 23° 30' '3"'tR-qcf 30° 21' -r:cR [B] 
56. 16 �. 2022 cfil � 1ffi' ,lf�TI'q; � � 3'.

� �IJ:a:Sch< � fa��lJIHQ � 31Tmm'i'HT �
�?
(A) ���"If
(C) �� it

57. '1fb1Sjc:iiilch � �-
(A) q;T{ (B)�
(C) � (D) cflT-T

58. � � ��muRT cfiT 'ffi�
(A) &m tlfuITT � <-i�Pch4T 4 �

[D] 

[A] 

(B)�'1ftr�
( C) �� Fcm;cn
( D) � �

-.- [A]
59. 2024 a; ..fl&tchlt-fi3 �fillch � � ilGt◄l::ft �

clRTIT? 
(A)� (B) &c!4T
(C) itfffi ((:)) � ft] 

60. f.h-1��c1 if � � m � cfiT J:J� � � �
�chR!l<i � �?
(A) cftq�C{�c?i- � (B) ci''il{�Q&lql- �
(C) fcmta- - � (D) Fcrn,-i,- � [D] 

61. � chlaff4c. rl1f � � � � -
(A) Li, C � CO2 (B) Li20 '3fR CO2
(C) LiO JITT: CO2 (D) Li JITT: CO2

62. '3ilQIGiH?ich' lt1"; a;� 1:?<fi m¢cl; c:i'TcFQT�T �
(A) � a; <TTTil ( B) lR � fm dCfi 

[Bl 

( C) lffi'lq, � c.ffi-TT ( D) �'lR -it ;re � c.ffi-TT [ B]
63. q_qc:1a.s � � ........ � '3-1 

(A)� (B)�
(C) � (D) _;flq1f\rcicfi [B] 

64. •i:mft �· 3ITT i:mft 'cfcfH"' � � � � i?
(A)'<r-'11 (B)�
(C) � (D) lfqqiT [D] 

65. Translate the following sentence into Hindi:

Women learn English faster than men. 
{A)� cfil �'3TT ����.I 
( B) � � � � Jti;tvfhfi�ct i I
{C) 3TRit������t1
(D)�cfil�ai����•I

[C) 
66. u'il-tchl.f\ cfil Will'<' lTMlJ (�) � � � � (�)

ch�i-iial �-
(A)�� (B) ��
(C) �� (D) �� [C] 

67. � � � JrcliT�T ;t fct$ral if J:Jq;T�J cnT cfiR ffl
trr � �il�ri tflnT �?
(A)� (B)� 
(C);fim (D)� [BJ 

68. A'-iilaio ,l � � � 3ffr.tq � uJTHR if� "u'IT<ft
�?
(i) � (ii)�
(iii) <.lll1<-il{c. (iv)�
(A) (i) q (iv) (B) (i) cT (ii)
(C) (ii) q (iii) (D) (iii) cf (iv) [C] 

69. flql!lifi � ief 3ITT �R �;cft:q_. cfil �
CfRR if c:rrrar ,fi"J:j'q cht;rildl �:
(A)�� (cycle) (_B)m�
(C)�� (D)�� [D] 

10. � fim-� 2022 R�tnfi'101 ij A'-il?t�n if�
cm-rlft umcn,ft r-R ��? 
(A)�� (B) � �
(C) �"#;f (D) f�r.!h�

71 . 1'1lrrr-;ft cfiT � t: .......... t?
(A) J.llml.fl (B) � 

[A] 

(C) <h1ct)llld (D) � [D] 
� � a; +1'11-tid< � � Fall.JTtfi ¥Ttft' 
cficfi� t-ft � � ulFft "u'IT<ft t-
(A) � __ (B) �
(C)� (D)'l-TTlR [BJ 

73. Ctioose the correct alternative which can be
substituted for the given sentence:
T e f nod of life in wtiich a person is old and
weal<
(A) Superannuation (B) Dotage
(C) Impecility (D) Senility

7 4. � 3fT¥t' t§@1 t I � if fffilrr i-
( A)��� (B)��

[BJ 

(C) �� (D) 'i4cfi1Ricfi � [C] 
75. � if Gl'R-il'R 3Jch@ � � cfiT � cf;RUJ t?

(A) � "q1ll"f
(B) q;n cfrr �
(C) � cl,l �=fcl--->----c)cfi�� ........ uf � 
( D) ,ffe cl,l cficTq [A] 

76. ir.wn a; 3ratra � ...... � chT ffiH1TR J:1GR � 
ufralt? 
(A)150 (8)100
{C)120 (0)130 [BJ 

11. "lml*��if 6s?ff��m (-=frcl;i') m
�,cilfulct � 11t �?
(A) JfPtf ��T
(C)�

(Bl c1f1-l�-1I,§ 
(D)� [C] 
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78. Choose the correct preposition.
He took ages ....... the job. 
(A) of (B) over
(C) above {D) beneath [Bl 

79. i:rl'if, 2022 if tntft -'flfafc.HI� � � � q,llfcfili-1
c); � � �l -a; 'j�tj:,fj cl; � i) �Jtrlt °i-ftl qff
� cli ....... ';fl.<44:JI �I 
(A) 30 cl (B) 31 cl
(C)33cl (D)29°<l [C] 

80. � � -� TTitft it�� 7JTffl "QtuRT' clil
�'If cfiif � 'ltJI?
(A) 18 �. 2022 cfiT
(B) 15 J.Tl"ffif, 2022 cfiT
( C) 9 �. 2022 cfiT
{D) 8 �. 2022 cfiT [C] 

81. ��-mr-T ............ if�t? 
(A)� {B)� 
(C) chl�cfilc1I (D) � ...tt,,rrl,-::r...,. [D] 

82. � Q�tfl"1-ti roR��� Q�tfl"1-tl �' <li:
(A)� JlR ll'<ZJ ��T {B) � 3m: �
(C)�JiR� {D)�'3TR:� [A] 

83. q;rat � c1; ilcRl c1; � � m �1'Ff � l?
(A) Rlc-a"ls•I<!, (B) �
(C) csli�ql-$1 (D)�� [D] 

84. q;rcffq �llJTcfi ci::11l � cfiT � l­

� u = �� � cfrr �
V = ��� umllRI cfrr�
f=����¢
(A) f = v + U (B) {=.!.+.!. 

f U V 

(C) _!_=.!._.!. (D) _!_=.!.+.!.
I u V I V u 

85. �£Tr-f i}; � � c); � <l.,-t1Qlt'1 �£Tr-f �
� qTfur Fcnft. � cfil. ,cj�qfa cfrr "'cfila �
����?
(A) � 200 (B) � 256
(C)�257 (0)�213 [A] 

86. � �,icfii< oftl�alc!l-t �,icfii-11 cJit � lln;fi �
mmrat?
(A)� (B)�
(C)� (D)� [BJ

87. VLOOKUP �R 'cfiTlf q;-ray t?

(A)������t
(B)����t
(C) cfQ �f«G� t � 'V' t
(D) Gl�cfil��$��t [B] 

88. 'lfmf il; ll� iftq; 3f'fq; � � (CDS) �
� mrcr cfit 1-1<oflqu,-c1 � ',fj1:q'T-f' ll +iuuf.!la
�1'JtU?
(A)�fct�
(C)��

(B)�� 
( D) 3f�Jlcfi � [A] 

89. 1"A � � _,.,q,Rl4l c); ifni � � +!"RF� t1
� � c); 3fT'cITT Q"(' � ,ffiR' � cfiT �
�?
P.roblem Figures / �J�tt,Rt<it

I 0 l0c:)ol cii:1 •:? I 
(I) (II)

Answer Figures / �-: 3tit,Rl4i . . 

(A) 

• t-M-f-•. � 

:::JTB� 0 .. : � - � .. 
.... �

• r._�1'"4 •• ·•� 

<-:�>. lf::i I 
90. Ctr I + Y clil 'U"Q11J ia;lrr °"1T<1T t?

(A)����*�
( B) � � � * �
(C)��cfil��*�

[C] 

(D) ��cfilftcftcm��*� [D] 
91. Ai:.iifi);a il ll � � � (�) il �

95. 

� °"1T<1T t?
(A) J-1-jf'll<cfi
(C) qftq,r
�-m�� 
(A) AB+ 

(C) o•. -¼, �f>. 

(B)�
(I:>)�

���t? 
(Bl o·

{D) AB-

(A) �cfillfl1Jiillc1A&i (B) cJiTGR cl1T �

[D] 

[B] 

(C) � cn1 �J1iq£1c{) (D) cl1T<'R cl1T � [B]
�� �em-ttt��cfil'3iRsfaiift�t1 nir 
"if 4Jlff 3IR � fa;ift 'ifflcft ti �= qff 4Jlff 3IR 
�5��t1� �itrril��t? 
(A) � R (B) �
(C) � (D) � [D] 
Rh���tutl� ........................ clrr

�.--......-�mnr t?
LA) RIAhl� Iii�(-! (B) �a-R � cfiUT
(C) ��qi"O"f (D) � [C] 

96. � it� if 1 "iiclcililcfi. � t?
(A) PT3@T (B) l1l1l 
(C) M (D) � [A] 

97. Ai:.ifcil�<1 � il � � ··� �llR � �
� -'f klC.(jcfi � .JJcifi 2022" lt � l'TQT? 
(A)�w,� (B)�
(C) e;qll-le;ct (D) ��

98. Ai:.i��a q � � � 'T"' rn-rcr � t?
(A) �� - ��r-;ft

99. 

100. 

(B) � - e.�lllqlifl
(C) �� - <ll-lili(Oju{)
(D) �- <11-ie.l�Jfi
1 � cliT � Rfc!titra 200 fi«.ft t?
(A) 200% (B) 0.2% 
(C) 2% (D) 20%
�lt��t? 
(A)�
(C) cfi@'ll

[D] 

[A] 

[D] 

[D] 
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101. f.rq�ancJfi!tcrAi���t? (C)m-�!ITTrcoTfcrcf;m

102. 

103. 

104. 

105. 

106. 

107. 

108. 

109. 

110. 

111. 

� i : -----------
� I

= tr.: t 
3

0 
----------

: 
V:, ,C, I I .... 
1 

20 _________ : : 
0 I: : 
o 10

-
---·, : : I 

z O I I '  • 
. 

10 20 
3

0 40 50 60 
Marks I�-+ 

(A) 60 (B) 25
(C)35 (0)45

� � lf lltft� :niG ...-tff t?
(A) fafm- irctim (B) � - lffin
(C) rfi<cr-cmrcr (D) � -�
SU 80 RDINA TE cfiT � q-rfhnfiltcti ll� t?
(A)� (B)��
(C) -JJ� (D) fcr;fra
���if q�aJ-1 ��mm t?
(A)�-�� (B)�f{Qifrl

[*] 

[D] 

[C] 

(C)-q_.i:fi.�. (D) �.i:fi:q_ [D] 
150 ift. � � a; llft'cf � � -ITTIT et;r '3fcA1R cJi)ur 
60° om 30° t, -ucrr a;� � q:crrl t � ';fTcJ � cl; 
Fctcrtra f«rr -q t?
(A) 200 .ft. (B) 50✓3 .ft.
(C) 100✓3lfr. (D) 2owalfr. [C] 
�m:f i}; ��-·1U�a;H �il �fl�,tt�7:?U.s
f.1-_·3f!.\dHl-,ft � clrr �cffl �? 
(A) �-�-lf'f. � �. �
(B) �.lf'f. ��. �
(C) �-"Cfll-�- �� �
(D) �-�- � $IWk<1, <fiTlT [A] 
���lf�itft'l!ff���.:mtR�tlll 
("fAJ � "trt, ffi Rt'lj\11' t?
(A) fclt1jAGII§ (Bj � 
(C) � (DJ.it.11�<111§ [D] 
fcl'itcf cfiT � � "1141-fflQ � � ........... � 1f 
�t? 
(A)� (El)rilrr 
(C) �VJ (D) � �Aj 
31-jQln4: sa;��ll��� 
��� 5: 6cliiRTiR"trt�? 
(A) 4 (B) 1
(C)2 (0)3 [8] 
Go throught the following poem and answer 
the question given below. 
0 Rose thou art sick, 
The invisible worm, 
That flies in the night 
In the howling storm: 
Has found out thy bed 
Of crimson joy: 
And his dark secret love 
Does thy I ife destroy. 
What does the worm symbolize here? 
(A) Death and decay (B) Secret love
(C) Life and beauty (D) Howling storm [A]
ffl1fluT fR-c{ifi\ Fcrcrnr � (�) et;r � cfiTlf i?
(A) lTlcIT ll�-�<T�
( B) � col' fcrcf;m

(D) �&rr�'3llcfiTfcrcnm
112. f.rq 1f � � ®W:if!i.:C: � ;rgf #?

(A) -.:s!I.JC::<11li'1 c1!, (B) � �rt q_ 
(C)�� (D)��R'�

113. � J&ltil<Ui �-
(A) ��col'
(B)��cfiT
(C)�-��coT
(D)��coT

114. ✓772641 qiJ'J:f'A�-
(A) 889 (B) 879

[C] 

[A] 

[C] 

(C) 871 (D) 891 [8] 
115. ircrra U\Jll'IO.sH cfrr�� ,lfUfa@T Jl 1938 "q

�?
(A)��� (B)��TITT
( C) � qiz;fi ( D) ul A-11 <1 I <1 � 

116. f.rqlf��'1rll��*?
[A]

(A) q11 (B) ��
(C) � (D) �'lfif [8] 

117. Aa=t��ct .f�f.rq-�q(HQ ���#?
(A) �ll<t�'4t (B) tfRit;m;r
( C) mffi'<ITT: (D) �

118. Fill in the blank with the correct option.
[A] 

The teacher taught us that the earth ............ . 
round. 
(A) a[e (B)Js
(C) were (D) was
�cl,� :r.;(':::r;r,l!Trtt t. 

� � � �?
(A) "'1't-r jj-1tj�q (B) 1JTJf � 

[8] 

( C)� ?fiDllc-Jicti (D) m � [ C]

�cl;� ,q' \J1'1'11idtQ abT � � 
'HT'! i$'t � qft f? 
(A) 12 (B) 6
(C) 8 (D) 10

12 . 'If:-�� '!1l2! �? 
(A) �\Jll� t:Rf.t�
(B) � '41-�m:
(c)wn�m:
(D)�a'i���t:R

12121. AnV .... ic'1 L'd of letter generally ends with: 
(A) Reading (B) Salutation

[C] 

[C] 

(C) Signature (D) Subscription [C] 
123. 'llclJ-q �1tilffllc1 �.�.�-OO"t. (� '51.:ct-<t�a

� �) 2022 il � qff et;r � � 
ctl�C'CI � fc);q, 7Jtrr? 
(A)�� (B)PJTlflfi;r;fi
(C) ftjMlcf) (D) m_r-r \Jll�ft [C] 

124. Choose the correct indirect form of the given
sentence from the options given below:
She said "We were thinking of selling the
house but we have decide not to"
(A) She said that they think of selling the house
but had decided not to.
(B) She said that they have been thinking of
selling the house but had decided not to.
(C) She said that they had been thinking of
selling the house but had decided not to. 
(D) She said that they thought of selling the
house but decided not to. [C]
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125. 

126. 

127. 

128. 

129. 

130. 

131. 

132. 

133. 

134. 

135. 

136. 

� � mftctft Jl, .Jc-QIGcfiiil qi'J � cnRcn ........... ..
t? 
(A)1!GT (B)�T
(C)� (D)c!T9: [B) 
,m-14'1.fl, Q"f4Qclifcnf��'RTGl'ITTift'i?
(A)� (B) � 
(C)� (D)t!«fi [C) 
� �lfflcn ...••.•.... * �Jm';f ifiTM il *-' �
�flIUIJT l?if §qt"IQqt<"11 � � �? 
(A) 1-1�--S:Qlcl 1-T<m (Bl� 
(C) � (D) �� [B) 
fs•-lm«R�tmRTf? 
(A) tj�q;)oft1.1 (B) �q;)oft1.1 �fq�fi:l-s"11.1
(C) Cf1l fq�fi:ltll.l (D) '5lllllhclch'll.l [C) 
................ �<finf a;t'1fltltif � � il �m
cfit � mffi'QT t. � �-m <finf q;t cfir-l �
.J'tflnll�? 
(A) � (<-t?R@<'l) (B) � �
(C) �fct�� (�.-11R:!Rm) 
(D)� ,,,...,,,...,,._ 

[D) 
� tr-I ml i:lai<{Qi iiZfNf � 15 qrd Jl � � � t I
fc)ra;l ctid il � 3'ra Tfl � �? 
(A) 75 (B) 30 

(C) 45 (D) 60 [C) 
Choose the correct option for the passive 
construction. 

----, 
Everyone calls him a peacemaker. 
(A) Everyone is called a peacemaker by him.
(8) A peacemaker He is callea. 
(C) He is called to be everyone's pea emaker.
(D) He is called a peacemake 
��mn ? ----
6

'(;;Y

l8

y 

''(;;Y'-,4 7.S

Y?Y

l2

y··· y 
4 6 ,, 15

i � 
(A) 24

�
{B) 19

(C)20 (D)22 
��cl; . ��anili
tl�r cfR � t? 

(A)� ..qll.11<'11.l "I.IT� ..qll.llcll.l l{ 
(8) � '3"ttl ..qll.llcll.l -q' 
(C)��..qll.llcll.l '1 
(D) � � ..-1.111.11<'11.1 � [A)
n cl;- � ilr-l cl;- � {x+a), {x"+a") "cfiT � 101-1&0.s
�? 
(A) n $ � f�,snp:rr-TT $ fi;n:r
( 8) n $ � .:iRT $ f<;rcr 
( C) n cl; "&ic@" Jr� .:iRT cl; f<;rcr
( D) n $ � � .:iRT cl; f<;rcr 
� ltTu; il �-mhft 31� t? 

(A)� (B)� 

[A] 

(C)� (D)� [D) 
A'-tifc\;c1 il � � cn1«,1; � cli'1' � a;t
f.r<rifu:r cfir-l cl;� .Jm<Gl4' ::rtf t? 
(A) cfl!TT q;y "ffl-l'R fctcRuT ( B) cff"l1"l-l"R 
(C)��� (D)�mR' [A) 

137. Fill in the blank with appropriate determiner
from the options given below:
................ Pen will do. 
(A) Enough (8) Many 
(C) Any (D) Much [C) 

138. � cos0=�m tan0=? 
b 

139.

140 

141. 

142. 

145. 

147. 

148. 

149. 

150. 

(A) b (8) �
✓b2-a2 a 

(C) � (D) a [BJ 
b ✓b2 -a2

'lfRn cl; '1r-'c1ft!K cl;- Ji-4 GI ii I � � ;Jffifl' t? 
(A) if. Q'clR".-1' i:rrg�clit (8) if. m-ift � � 
(C)if. �� (D) if. �-qt.-cit_ � �
[C) 
$m«ft � �arr cli � � � � ��m1 �
�? 
(A)��� (8)$. ��� 
(C) '3f�!Tcn�� (D) _,fi:cft.$. "{]cf� [*] 
� � 1l mrr antff '1ftt ll 3'1ocff i n'llT 3fJR � '1ftt
ll � � I ufaJ c)- '1f'ltm il '3ftRT � qftqfcra qR � t

m 3fiR � '1ftt ll n:nwii � ;;mn �t oar� "cfiT �
antff 3ftt � � �? 
(A) 13 cIT (B) 10 cl'f 
(C) 11 cIT (D) 12 iff [D) 
������-FY R � t?
(�) '<Rt (B) filfift � 
(C) d((';dl� (D) cfilcl�R:il.ll [A) 
���il���? 
(A)� (B) <Pf� 
(C)� (D) �'ITicr [C) 
,m.-QQlt"I � � cfi't �UR � 1t � �
�ft;tl;:;mlf? 
(A) �cfit�lRs"I.ITcfiT 1/4 
(B)�cfit��q;y1/6 
(C)�cfit��q;y1 3
(D) �-©��q;y 1/2 [BJ
�cfi<"I � "cfiT .Jc.it;icOI t?
(A) XOR (B) > 
C ¥ (D) if [A] 

� ri il fc\;n-ft � � � f?
(8)2 

(C) 3 (D) 4 [BJ 
� 14 ri cfiT Fcrmtff ltlifll � 1R � � Jf�;jf cJit 5
lft. �"¢l\ffl"Qi.Jtff�Qralit FcRmfffcrn;t;r4N�
� i � � "¥ m cli- � q;i;my � .J'tflnlT cfR.fT
�? 
(A) ��zy;r, � � (B) f.rciic�zy;r, �� 
( C) f.rciic � zy;r, � -zy;r ( D) � � -zy;r, 3fcfcffi ffi1' [B) 
� � lfq'tf -rqrq � 31d cnt 'R'cfiG cfir-l c.rn;n
�t? 
(A) WIR tR � .-1" "$T.-1'T 
( B) cnTo q;y � "$T.-1'T 
( C) '3fTTT "cllr-t tR �f'lTT � 
(D)��hrw�� [C]
��Fcrn�il��ci;t��t? 
(A)� (8)� 
(C) � (D) ifiR1 [BJ 
���"chl"fl{ft�-�t? 
(A) Jq. + � (8) JH + 'Cfl'iOT
(C)JH+� (D)�+� [D) 
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